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GENERAL COMMENTS  

This guide includes some student example responses and 
commentary from the June 2018 exam. 
 
It is intended to provide some examples of the kind of responses that 
are submitted with some exemplification of the mark scheme 
connected to that response. 
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QUESTION  
 
11 
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STUDENT A 

EXAMINER COMMENTARY  
 
0 marks. 
The student does not address the question. The idea of the turtle being 
‘very afraid’ is irrelevant as it ‘can’t do anything to save itself’. 

STUDENT B 

EXAMINER COMMENTARY  
 
0 marks. 
The answer is not a complete sentence and does not touch on the phrase 
‘isn’t a pleasant sight’. 
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EXAMINER COMMENTARY  
 
2 marks.  
Good use of vocabulary to explain the meaning of ‘isn’t a pleasant sight’ 
particularly the use of ‘it’s not appealing to look at’. 

STUDENT D 

EXAMINER COMMENTARY 
 
2 marks. 
A clear and accurate answer. The explanation of ‘isn’t a pleasant sight’ (‘is 
not nice to see’) is simple and well addressed.  

STUDENT C 
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QUESTION  
 
23 
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STUDENT A 

EXAMINER COMMENTARY  
 
0 marks. 
The student misses the point of the question and does not pinpoint the idea 
of unfair pay (1 mark) being connected to a low level of stimulation at work 
(1 mark). 

STUDENT B 

EXAMINER COMMENTARY  
 
1 mark. 
The student gets across the idea of de-motivation but not the idea of unfair 
pay. 
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STUDENT C 

EXAMINER COMMENTARY  
 
2 marks.  
This response gets across both the idea that the pay received is unfair 
‘works a lot but earns a little’ and how this is de-motivating ‘doesn’t want to 
work anymore’. 
Even though the answer lacks some grammatical accuracy, both ideas are 
alluded to so that the overall meaning is clear.  
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QUESTION  
 
25 
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STUDENT A 

EXAMINER COMMENTARY  
 
0 marks. 
No reference to perspiration/exertion or heat. Comments are not relevant to 
the specific phrase mentioned in the question. 
 

STUDENT B 

EXAMINER COMMENTARY  
 
0 marks. 
This student completely misreads the meaning of the given extract. 
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STUDENT C 

EXAMINER COMMENTARY  
 
2 marks.  
This student gets across the idea of the excessive heat and excessive 
perspiration and connects the two. Two marks are awarded even though 
the student uses the word ‘evapourates’ instead of explaining what this 
means. Additionally, the use of adverbs ‘really quickly’ in the answer show 
a good understanding of what is happening.  
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QUESTION  
 
26 
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STUDENT A  

EXAMINER COMMENTARY   
 
2 marks. 
This is an example of a student copying fragments from the text with the 
result that two of the answers do not make complete sense. For example, 
the student gains one mark for the answer: ‘compass in his hand burns like 
the gravel underfoot’. However, there are no marks awarded for ‘air is hot’ 
as this is not a full enough explanation of a factor which makes the situation 
more difficult for travelling.  
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STUDENT B 

EXAMINER RESPONSE 
 
4 marks. 
Generally clear answers on factors which make the situation more difficult 
for travelling. Direct quotes like this from the text are fine as long as they 
are (re) worded where necessary to fit with the way the question is 
phrased. 
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STUDENT C  

EXAMINER COMMENTARY   
 
4 marks. 
The student refers to four of the reasons given in the mark scheme and 
therefore receives full marks. The wording of the answer is clear and 
precise.  
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QUESTION  
 
27 
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STUDENT A  

EXAMINER COMMENTARY  
 
0 marks.  
The student misses the point of the phrase and does not comment on any 
of the relevant points: the writer realising (1 mark) that it’s not always clear 
how far things are in the desert (1 mark) and how this can be confusing (1). 
 

STUDENT B 

EXAMINER COMMENTARY  
 
0 marks.  
The student misinterprets the text and the meaning of the phrase focusing 
on the idea of the compass being incorrect rather than how the evidence 
– both from the compasss and from what the writer can observe – can be 
misleading.  
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STUDENT  C  

EXAMINER COMMENTARY  
 
3 marks. 
The student obtains the full three marks for this answer as all three are 
covered: 
1. He realises 
2. You cannot determine the length of a distance accurately.  
3. This can be misleading. 
The student expresses the ideas clearly and uses an appropriate 
synonym.  
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QUESTION  
 
34  
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STUDENT A 

EXAMINER COMMENTARY  
 
2 marks. 
The student’s answers are brief. While ‘green weeds’ and ‘damp grass’ can 
be accepted, ‘shore’ and ‘daze’ cannot. 

STUDENT B 

EXAMINER COMMENTARY  
 
2 marks. 
Neither ‘A fire burns down his chest’ nor ‘he moves forward in a daze’ are 
relevant answers to the question. 
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STUDENT C 

EXAMINER COMMENTARY  
 
3 marks. 
Answers 1, 2 and 4 provide information about what the writer notices about 
where he is. Answer 3 is too brief and does not clarify what the writer 
notices. 

STUDENT D 
 
 

EXAMINER COMMENTARY  
 
4 marks. 
All four answers address the question about what the writer notices about 
where he is.  
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FURTHER GUIDANCE AND CONTACTS 
You can contact the subject team directly at esl@oxfordaqaexams.org.uk 

Please note: We aim to respond to all email enquiries within two working days. 

Our UK office hours are Monday to Friday, 8am – 5pm local time. 

 
 
 

 

 
 
 
 
 
 
 
 

OXFORD INTERNATIONAL AQA EXAMINATIONS 
GREAT CLARENDON STREET, OXFORD, OX2 6DP 

UNITED KINGDOM 
 

enquiries@oxfordaqaexams.org.uk 
oxfordaqaexams.org.uk 

mailto:enquiries@oxfordaqaexams.org.uk
https://oxfordaqaexams.org.uk/

